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® (a—1)(b-1)(c+1)
@ (a+1)(b—-1)(c—1)
@+ 1)+ 1)(c+1)
@ (a—1)b+1)(c—1)
® (a—1)(b—1)(c—1)
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abc+ab+ac+a+bc+b+c+1
=albc+b+c+1)+ (bc+b+c+1)
=(a+1)(bc+b+c+1)
=(a+1)(b+1)(c+1)

3.

@ (z+1)(z+5y+3)
@ (x—1)(z—5y+3)
® (z—1)(x+5y—3)
@) (2 - 1)z +5y+3)

® (x+1)(xz—>5y—3)

z? + 5xy + 22 — 5y — 3
=22+ 5y +2)z — (5y + 3)
=(z+5y+3)(z—1)
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=(a+b—2a)(a+b+a)
=(b—-a)(2a+0)
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® (z+3)(z—5) @ (z—-3)(z+5)

® (2 —6)(x+3) @@ +3)(@+5)

® (- 6)(z +5)
(F)=(z+5)(x+5—-2) = (z+5)(z +3)
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ab+5a—4b—30=0

a(b+5) —4(b+5)+20— 30 =0
(a—4)(b+5)—10=0
(a—4)(b+5) =10
a>0,b>0°B2b+5>5
a—4=1,b+5=10
sa=b=5
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@x4 — 52% — 2022 + 60x + 144
@ 2* + 52® — 202% — 60x + 144
® 2* + 523 + 2022 — 60z — 144
@ z* — 523 + 2022 — 60z + 144

® 2t + 523 — 2022 + 60z — 144
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(FA) =(z+2)(z —6)(x+3)(z — 4)

= (2% - 12 —4x)(2? — 12 — 1)
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(F4) = (A - 42)(A - 2)
= A% — 5xA + 422
= (2% — 12)? — 5x(2? — 12) + 422
=z — 523 — 2022 + 60z + 144
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Q222 +2x—1=Q2z+1)(z—1)
© 42° —y* = (20 +y) (22— y)

© a®+2ab+b*—a—1b
=(a+b—1)(a+b)
@ 422 4+4z+1= (22 —1)°
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9222 +z-1=Q2z—-1)(z+1)
@ 422 + 4z +1 = (2 + 1)

(a—0b+3)(a+b—3) < td3s] 514A?

(Bl 3, S5t ]

@ a®?-b-9

@)az -1 +6b-9

® a2 —b2+6b+9

@ a?+1b* -9

@ a®>—b*—-9b—-9

— a2~ (- 6b49)
=a?—-b>+6b—9
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O (o+y+3y @ -y+37

® (z+y—3)° @ (z—y—3)>

® (z+y+4)°

z—y=AZE XgstH

(z—y)(z—y+6)+9=A(A+6)+9
=A%2+6A4+9
=(A+3)?
=(z-y+3)°

a? — 6ab + 9b? — 36¢% o] A7 2 4 U= AL?

@a—3b—60 @ a+3b—6¢
® a—6b—3c @ a-+6b—3c
® a+6b+3c

(a —3b)2 — (6¢)? = (a — 3b+ 6¢)(a — 3b — 6¢)
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@ 322 4 182 + 27 = 3(x +| )

@ 922 — 24z +16 = |z —4)2

® 202~ T72=2(x+6)(z—2x[_])
@ 622 —17c+12= (22— )3z —4)

@m2 — 20z +91 = (x—7)(x_D)
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@ 3(2% +6x+9) = 3(x + 3)?

L ]=3
@ (3z — 4)?

=
® 2(2? - 36) = 2(z + 6)(z — 6)
2x[_]=6, [ ]=3
@ (2z —3)(3z — 4)
[ ]=3

® (z —7)(z —13)
[ ]=13




